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37 ChiMatrix 7.7
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43 ChiMatrix_8_6

Results
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Results
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46 ChiMatrix_9_2

Results
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47 ChiMatrix_9_3

Results
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Results
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49 ChiMatrix_ 9.5

Results
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ChiMatrix_ 9.6

Results
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51 ChiMatrix 9.7
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52 ChiMatrix_9_8

Results

MCEvents : 138492
DataEvents : 636
ThresholdMass : 54.3421

a;; = —0.00737276 £ 0.00167039
o;; = 0.0119975 £ 0.0061028

—Template : alpha=999

—
— Data; m=9.029e+04
— Template : alpha=-170

=R

)

Py

\T{rl\llll\‘l\\lllll\l\

L

H

Tt —— +—+—+—l»—+"
3

#

—— 4 ——

S [

26 38 50 a2 o9 96

®
ol
R
oL
&

o8

T T T T T T T T T T T T T T T

30

28

26

24

22

20

0 0.005 0.01 0.015 0.02 0.025

0.03

c

o4

-0.0055

-0.006

-0.0065

-0.007

-0.0075

-0.008

-0.0085

-0.009

-0.016 -0.014

-0.012 -0.01 -0.008 -0.008

-0.004 -0.002 0

T
—Data

— Template : sigma=0
— Template : sigma=300

Bl

\ﬂrl\llll\‘l\\lllll\l\

2

e

E 5 x10°
0 82 ED 86 88 30 3 94 96 98 100

MEE
e e e e B B —— T T
= 3
——1T 14
= — — .
E e o -
- 9
oy e b b b Ly 1
1] 0.005 0.01 0.015 0.02 0.025 0.03
c



53 ChiMatrix_ 9.9
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54 ChiMatrix_10_3

Results
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Results
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Results
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Results
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Results
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Results
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ChiMatrix_11_7

Results
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DataEvents : 266
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Results
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68 ChiMatrix_11_10

Results
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Results
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